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Sub-Section Number : 1
Sub-Section Id : 824724386
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8247247085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Developmental changes -

Options:

1. occur at a universal pace in children across cultures.

2. occur at a very fast pace till middle childhood and then stop.
3. always occur in a linear manner and are unidimensional.

4, are an interplay of hereditary factors and environmental influences.

Question Number : 1 Question Id : 8247247085 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247247086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is an example of use of gross motor skills while requires use of fine motor

skills.

Options :

1. running; drawing
2. squeezing; walking
3. grasping; climbing
4. scribbling; clapping

Question Number : 2 Question Id : 8247247086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
R TR, T 0T o SRTER0T T e AT T 61 ST 2 2

Options :

| ¥, o s

, TS, =

3 TFSTT, T

, SIS T ST, e S

as Is

* &, Download FREE CBSE E-BOOKS @ _



https://cbseportal.com/CTET/papers
https://cbseportal.com/ebook

Question I\Pa(%gglf%[:)ﬁ‘)) FROM : https://cbseportal.com CTET/ papers

Correct Marks : 1 Wrong Marks : 0

Which of these child would be in the middle childhood stage?
Options :

1. A child beginning to learn imitation in social contexts

2. A child who can follow abstract thought easily

3. A child who cannot indulge in cooperative play

4. A child who can reason logically and do conservation tasks

Question Number : 3 Question Id : 8247247087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247247088 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Children learn ways of behaving and values and norms of living in their family.
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Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 4 Question Id : 8247247088 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247247089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair?
Options :

1. Infant - Applies logic and is able to infer
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4. Formal operational child - Imitation begins, Imaginary play is initiated

Question Number : 5 Question Id : 8247247089 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frAfeiaa 5 & Si9-91 T 981 f7ee 2
Options:

1 TTTTEET H Sl — 7o 1 @] Fal 2 ST AT o7 § T BT 2

TS WIHaTeash ST & == — 1o o AT S T & e 2

2

(WL S

LRSI R ED TTET § §==1T — JIT&0T I TT0T 7 97T 2|

3.

. T WIOFATCHR ST 5 el — ST ] JRSAT, FeuIoes et FeA] 0 e

Question Number : 6 Question Id : 8247247090 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Piaget's cognitive development theory, the process for search for 'balance' between self and the

world is referred to as -
Options:

1. equilibration.

2. organization.

3. assimilation.

4. accommodation.
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Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 7 Question Id : 8247247091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Lev Vygotsky's views of children is correct?

Options :

1. Vygotsky suggested that children have a lot of potential that includes tasks they can do with
support.

2. Vygotsky understands children as blank states.

3. Vygotsky proposed that children think quantitatively lesser than adults.

4. Vygotsky has grossly underestimated the capacities of children.

Question Number : 7 Question Id : 8247247091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247247092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a teacher supports the child in putting together a jig-saw puzzle by giving hints and cues

she is using the construct of -
Options :

1. independent discovery.

2. scaffolding.

3. conditioning.

4. modelling.

Question Number : 8 Question Id : 8247247092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247247093 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A child-centered classroom is individualistic and follows a rigidly structured

curriculum.
Reason (R): Child learns best when the teacher is didactic and controlling.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 9 Question Id : 8247247093 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247247094 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes as a progressive classroom?
Options :

1. Teacher completely controls the class.

2. Participation of children is minimal.

3. Children are assessed while doing activities/tasks.

4. Timetable and seating arrangement are fixed.

Question Number : 10 Question Id : 8247247094 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amit reasons that we can change laws if they do not meet the needs of the society but it should be
done through mutual agreement and democratic process. According to Lawrence Kohlberg at

which stage of moral reasoning does Amit come under?
Options :

1. Social order orientation

2. Social contract orientation

3. Universal ethics principles

4. Good boy - Good girl orientation

Question Number : 11 Question Id : 8247247095 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247247096 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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regarding their identity, human existence and meaning of life.

Options :

1. naturalistic

2. linguistic

3. interpersonal

4. intrapersonal

Question Number : 12 Question Id : 8247247096 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247247097 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 5-year-old girl utters - "This is not for me. Girls do not play with cars" on getting a car as a gift.

This is an indication of -

Options :
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3. Gender stereotyping.

4. Gender stability.

Question Number : 13 Question Id : 8247247097 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247247098 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an effective strategy to cater to cultural and linguistic differences in the

class?

Options :

1. Follow standardized and rigid curriculum

2. Adopt the method of direct instruction

3. Promote competitive spirit in the classroom

4. Recognize that differences are not defects.
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Question W&%ﬁ?@eﬁﬁ%" Ic:l : Qibaii({gsﬁuse%ggﬂtr%é CH%CJ&.TM ?tpuq’ﬁlsng :YesIs
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247247099 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 suggests that assessment -

Options:

1. must be undertaken through formal exams taken once in an academic year.
2. is important to find out a child's progress over a certain period of time.

3. must be at the centre of all educational activities.

4. is important to assign ranks to the children in order to merit.

Question Number : 15 Question Id : 8247247099 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247247100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusive Education requires:

Options :

1. ability-based rigid grouping of students.

2. consideration and respect of individual differences.
3. only vocational education for 'certain' students.

4, stereotyping of students with disabilities.

Question Number : 16 Question Id : 8247247100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247247101 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following behaviour is an identifier of Dyslexia?
Options:

1. Writing bas d, 21 as 12

2. Low attention span and high physical activity

3. Frequent mood swings

4. Abusive behavior

Question Number : 17 Question Id : 8247247101 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247247102 Question Type : MCQ Option Shuffling : Yes Is
Quel ™
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Students having Autism can be identified by challenges they face in:
Options:

1. expressive and receptive communication

2. following a fixed routine

3. memorization of information

4. gross motor skills

Question Number : 18 Question Id : 8247247102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247247103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Successful inclusion of students with locomotor disabilities requires:
Options :

1. Accessible infrastructure
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4. Sympathy and pity among peers

Question Number : 19 Question Id : 8247247103 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247247104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practice will be helpful in inclusion of students with diverse learning

preferences?

Options:

1. Downplay relevance, value and authenticity of task.

2. Minimize threats and distractions in the surroundings.
3. Reduce access to tools and assistive technologies.

4. Restrict individual choice and autonomy of students.
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247247105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students learn through self-initiated activity while actively engaging in discussions in a classroom

based on -

Options :

1. behaviouristic principles.
2. observational learning.
3. social-constructivism.

4. expository teaching.

Question Number : 21 Question Id : 8247247105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247247106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meaningful learning -

Options :

1. is primarily reproduction of knowledge.

2. occurs when content is decontextualized.

3. takes place when teachers actively control student's learning.

4. involves the process of analysis, critical thinking and problem-solving.

Question Number : 22 Question Id : 8247247106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TSR AT —

Options :

1 g@m%mm‘ ST T T 30— AT 2|

, FAEETE TS r&mﬂd{-g: R T-HefHa T SaT B

= S TE

Download FREE CBSE E-BOOKS @ _



https://cbseportal.com/CTET/papers
https://cbseportal.com/ebook

DONMLQADED FROM : https://cbseportal .com CTET/ papers

T T2 I90r, GHTA=FTeES 9= 9T SE=T-S9T97 shl TR0 9ITHe 2

Question Number : 23 Question Id : 8247247107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following has not been advocated in the National Education Policy 20207
(i) Emphasis on conceptual understanding

(ii) Summative assessment

(iii) Increasing curriculum content

(iv) Decreased use of Technology
Options :

1. (i) (i)

2. (ii) (iv)

3. (i) (ii) (iii)

4. (ii) (iii) (iv)

Question Number : 23 Question Id : 8247247107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T Fifa, 2020 ¥ fA=ATeAtas 3 | foFaeht Ieerd 981 o1 7E 27
. H =S 999 W T

i,  FTEE ﬂ_-l'l?:h‘rr

i, cmwrraﬁ;

iv.  SYERT o SUFNT § AT

%, Download FREE CBSE E-BOOKS & _



https://cbseportal.com/CTET/papers
https://cbseportal.com/ebook

(i) (if) DOMLOADED FROM : https://cbseportal.com CTET/ papers

—_—
.

(i) (iv)

(1) (11) (111)

w

(11) (111) (1v)

»

Question Number : 24 Question Id : 8247247108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of response and goal orientation?

Options :

1. Doing a worksheet to improve one's competence in domain of particular interest: Approach-
oriented mastery goals

2. Preparing for a test to win the cash prize: Avoidance-oriented performance goals

3. Taking extra classes for a subject to achieve first rank in class: Avoidance-oriented mastery goals

4. Working hard for not getting outperformed by others: Approach-oriented goals

Question Number : 24 Question Id : 8247247108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247247109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to facilitate student's learning, a teacher should -
Options:

1. induce the fear of exams.

2. stress on rote memorization.

3. encourage passive listening.

4. enable linkages with what the children already know.

Question Number : 25 Question Id : 8247247109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a constructive approach for dealing with the 'misconceptions' carried by

students?

Options :

1. Assign lot of content to memorize and remember.

2. Create circumstances where misconceptions are not allowed to be expressed.

3. Give opportunities for experimentation and observation to counter misconceptions.

4. Ignore prior beliefs and alternative conceptions of students.
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Options:

1. Competition

2. Discussions and dialogue
3. Drill and practice

4. Punishment
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For effective to take place, a teacher should activate/induce:
Options :

1. Entity belief of ability among students

2. Incremental belief of ability among children

3. Sense of competition among students
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Which of the following is not an example of extrinsic motivation?
Options :

1. Doing homework to avoid punishment

2.Joining debate society to gain knowledge

3. Learning chess to win a competition

4. Participation in dance to impress peers

Question Number : 29 Question Id : 8247247113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Fatafas o = =9 19T ST 23T = SETEuT I 20

¢ Download FREE CBSE E-BOOKS @ _



https://cbseportal.com/CTET/papers
https://cbseportal.com/ebook

Options : DONMLQADED FROM : https://cbseportal .com CTET/ papers

(e i W N e [
1 GS | T=H oh TeT0 TTgahd ShiAT|

T TR e 3 T are-forame weE 3 wnfeer 2

2

5 TTeETTET S 3 form wraes S

. TR e e 3 o e o e

Question Number : 30 Question Id : 8247247114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is likely to student's achievement.
Options :
1. Contextualized curriculum, decrease
2. Learner-centered pedagogy, decrease
3. Social collaboration, enhance

4. Social exclusion, improve
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